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Solve using partial sums.

a.5,678 b. 4,937 c. 8,268

+ 1,234 + 3,248 + 1,174
=15,000/+|1,000 = + = +
=| 600 |+ 200 = + = +
=| 70+ 30 = + = +

+ =| 8]+ 4|+ = + + = +

Preview

Please log in to download
the printable version of this worksheet.

9.2,762 h. 3,368 i 6,547
+ 5,429 +2,57]1 + 1,962
= + = + = +
= + = + = +
= + = + = +
+ = + + = + + = +
[472750
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ANSWER KEY
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L Partial Sums )
Solve using partial sums.
a.5,678 b. 4,937 c. 8,268
+ 1,234 + 3,248 + 1,174

6,000 =|5000{+|1,000

7,000 |=4,000/+3000, 9,000 |=|8,000/+ 1,000

.......

+ Q= 7|+ 2
8,191 5,939 8,509
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